EBAZA / Components

No.

ZF / Part name

#E / Pes

#ME / Material

- REMNIE / Color-Finish

kT Hs8— / Top cover

1

ASAHAE UL94HB / UV-resistant ASA UL94HB
EPATEABSHIRE (UL94V-0 E L) / Flame-resistant ABS UL94V-0

RI AT L— / White gray
F+3—)LY L— / Charcoal gray

2 |7RF4— / Bottom base 1 ASA%E UL94HB / UV-resistant ASA UL94HB RITART L— / White gray
HIAMEABSHIRS (UL94AV-0 E L) / Flame-resistant ABS UL94V-0 | F¥3—JL% L — / Charcoal gray
3 TS542KH/8— / Blind lids 2 ASA#E UL94HB / UV-resistant ASA UL94HB 7RI AT L— / White gray
EEPATMEABSHIRE (UL94V-0 /%) / Flame—resistant ABS UL94V-0 | F+3—)L4 L — / Charcoal gray
4 | HRZ Yk / Gasket 1 1)avI L / Silicone 75v% / Black
5 |ERFER(/NA2K M3 x 8) 8 RATULR AR
Screw (Binding head M3 - 8) Stainless steel Unfinished

W7/ =7)LT—43 / Technical Datall
{REEZ 4R / Protection class : IP67
{SEHEEEH / Operating temperature : ASA —10°C ~ +55°C

ABS -10°C ~ +45°C

#H{TRILY / Recommended torque

N . fna/Title
$173\— / Top—cover fastening : 0.45N"m ~ 0.55N*m BASHANFER T % PETH KA v X © I:I
E AR / PCB mounting : 0.2N*m ~ 0.3N*m TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP67 NETWORK PLASTIC BOX
B (BEEXZELD) / Color Type (End of product number 1) & 8/ Approved & X]/Checked #I[X]/Created B F /Product number RIE/Scale
585 / Code £ / Color #ME / Material WP20-28-501
G RITA LT L— / White gray ASA#E UL94HB / UV-resistant ASA UL94HB 1R HH % H 1/ 4
c F4a—)LY L— / Charcoal gray | B¥ATEABSHAE (UL94V-0 E %) / Flame-resistant ABS UL94V-0 fERH/Date  2019/09/19




280

45

232.7

25 20

N

|
|

(Ul L

4-R24

4-R0.5

A-A(1:3)
L]
™

4]

O

35]|| 385 3

rn

4-¢4.3

2475

136.5
ﬁ @ & ¢ E\
¥ ,CE Y
K? & e & glg/j

BRASMINTFEHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

& 8/ Approved

iR

1% [Xl/Checked

F

#IX/Created

% H

fna/Title
P67 KR YR @ |:]
IP67 NETWORK PLASTIC BOX —~

FIZF /Product number RE/Scale
WP20-28-501 1:3

e H/Date  2019/09/19 2/ 4




My T H/8— / Top cover

-

280
232.7

20

4-R24

4-R0.5

C-C(1:3)
1
Lo
IS
1.5
3.5 16.5

ol
'm:
L

15.3

242

8-M3A 24—

bk

8-M3 Insert nut

168 8-M2.6 FHE R ER {7 R R
8—M26 BOSS 186
W\
D) @\%
U] )
¢
I_rE; I
154
Az o © © L~ ~ o ©
‘ﬁ ‘02 ‘& m r4 "~ 9 E
6 2-@10
S
o e ]
) !QEj
162
8-2.8
162
HREALRBIR * RFELTULEEA
Recommended PCB dimension * NOT SUPPLIED
fna/Title
TAKACHI| ®%X&itahFEHIE P67RE kR 2 ©|:]

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

IP67 NETWORK PLASTIC BOX

& 8/ Approved

iR

1% [Xl/Checked

F

#1[%] /Created B /Product number FeR/Seale
WP20-28-501 2
% H 3/ 4
{ERLH /Date 2019/09/19




3
AR

—

T 14— / Bottom base

25 1

280
—

3.25

4-R24

—

2-MAF{ U —pyb (K= PWPMB-M4-2E 1 A )
2-M4 Insert nut for Pole mounting bracket (WPMB-M4-2)

F-F(1:3)

@6.5

3.25

3.5

4-M4FA S ERER A 7
4-M4 Mounting hole

E-E(1:3)

L]

252

6-M2.6 FHE AR BN AR R

6—-M2.6 Boss 188
168
355 117 355
136.5
e —
P T2\ ° r—e | =7 ¢
K o i\ : (-
Lj.:‘-* N A ) o -
175
O
o c | o L -4 ©
*@p T % g 8 2 g~
6.5 6.5
0)
o0
o & ”
Loo—f—.. — S SN J
r.'.'“ia D 'E?“Ea Q ' Ty
<M hid 74 = L= 0L
153
HRELRBIR * RFELTVEEA
Recommended PCB dimension * NOT SUPPLIED
4 /Title

BRASMINTFEHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

IP67Fh KRy o R

IP67 NETWORK PLASTIC BOX

o]

& 8/ Approved

iR

1 [X/Checked H[/Created HYZ/Product number e/ Scale
WP20-28-50] s
L2 T H 4/ 4
{ER B /Date 2019/09/19




